| _A-/03DBH |

[ REVISIONS RELEASED |
REV DESCRIPTION DATE APPROVED
H | 23150 JADDED ITEM 3 CHANGED ITEM 9 T0 1 WAS 2| 93/03/18] WS
J 24065 MOVE . 25 DIM: .88 WAS .85:REM. + & -] 93/06/25] WS
00 K [33271 [FIND NO 3 WAS 39529-023, 97/07/08
FIND NO 9 WAS 39529-037
LOCATION OPTIONAL [ _[09-025521]TTEM 14 WAS —034 09/10/07]_CB
5.19 MAX. ( )
CONSTRUCTION GASKET SEALED (VENTED —
-25 MIN. — 4. 562 MAIN CONTACTS |
CONFIGURATION SPST N. 0. Al | A2
VOLTAGE ( NOMINAL) 28 VDC |
=78+ CURRENT: 400 AMP. |
1000 AMP' FOR 30 SEC. |
i 4.08 MAX. | 1500 AMP INRUSH 13 O | O 14
l ————————— AUXILIARY CONTACTS OPERATE BEFORE MAINS CLOSE !
CONF IGURATION O A A O
0 ‘ :—@3— 2@ I VOLTAGE 28VDC / 115V. 400 HZ 1 l 12
~ o ® & CURRENT: RES. 5 AMP, 10 AMP CARRY ONLY |
LT o8 @— 8 SURGE 30 AMP CARRY ONLY FOR 0.1 SEC. |
© - &
f & 'Eji} 'éik ' COILDBNACYCLE I
INTERMITTANT
< g ~HOr ! NOMINAL ‘VOLTAGE 18-31 VDC Xt O——
- —_ ® PICKUP MAX. 10 VDC
f < ~ ® A\ i PULL THROUGH 6 VDC MAX AT 25°C
ﬁ{} = DROPOUT VOLTAGE 73 X2 (O—
RESISTANCE 14 OHM $20% AT 25°C
- s / L8 VENT (LOC. OPT.) ENVIRONMENTAL DATA
. . AMBIENT TEMP. -55°C TO +71°C
/ +010 LIFE ELECTRICAL 15, 000 CYCLES MIN.
3.12 . 266 — 000 DIA. HOLE LIFE MECHANICAL 100, 000 CYCLES
5 MTG. HOLES WEIGHT MAX. (EST.) 2 LBS. 3 0Z
3/8-24 UNF-2A 8-32UNC-2A STUD 10-32 UNF-2A
2 STUDS 4 STUDS 2 STUDS
15 [ 1 [32687-090 CONTACTOR — ASSEM, —PRIMARY
14 | 2 [51810-054 WASHER LOCK #10 X . 062 X . 047 SPLIT AN935B10 BRONZE
13 | 4 [51808-064 WASHER LOCK_ #8 X . 055 X . 040 SPLIT AN935B8 BRONZE
\ 12 | 2 |51807-084 WASHER LOCK 3/8 X . 683 X . 094 SPLIT AN935B616 BRONZE
11
N\t m
— === : 9 [ 1 [39529-007 OVERLAY — WIRING DIAGRAM
! L J\@ 8 | 4 |[51200-020 SOREW #4 X 1/4 SHEETMETAL S.S.
= 7 [ 2 [50410-084 NUT 10-32 3/8 X 1/8 HEX. AN345B10 BRASS
5 6 | 4 [50408-034 NUT_8-32 X 5/16 X 3/32 HEX. BRASS
s 8 | (LOCATION OPTIONAL) 5 | 2 |50407-164 NUT_3/8-24 X 5/8 X 7/32 HEX. AN341-616 BRASS
4 1 4 [ 1 [32691-001 PLATE - WIRING DIAGRAM
- 3 [ 1 |39529-001 OVERLAY-NAME_PLATE
Pl 2 | 1 [32552-002 PLATE — BASE COVER
- 1] 1 [16043-033 NAME_PLATE
‘ FIND | QTY PART OR NOMENCLATURE OR FSCM DRAWING OR MATERIAL
@/ ! P | NO |REQD IDENTIFYING NO DESCRIPTION NO SPECIFICATION OR NOTE
! ey NESS OTERILSE SPECIFIED =
REF:
DINENSIONS ARE IN INCHES =
, TOLERANGES ON BELL: 214-175-131-103 Tyco Electronics
E 2 PL DEC. |3 PL DEC. ANGLES DY Hart man™ivision .175 N DIAMOND STREET  MANSFIELD, OHIO 44902
- +. 06 |t + 1+ |PR BY]RLS[97/07/30
NOTES: < 910 CHK BY| RS [97/07/30 KSR
1. THIS UNIT MEETS THE APPLICABLE PORTIONS MATERIAL ENGR [ DM [97/08/06
o e encr[OII908/00 400 AMP, 28 VOLTS
2. FINISH REMOVED FROM MTG. SURFACE SIZE | CODE IDENT -@gm NO- A—703DBH
SCALE_NONE | SHEET REF TE P/N 1-1616058-0




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
A703DBH



http://www.mouser.com/TE-Connectivity
http://www.mouser.com/access/?pn=A703DBH

